Anisotropic bidispersive convection

B. Straughan Department of Mathematics University of Durham, DH1 3LE, U.K.

August 30, 2019

Abstract

This paper investigates thermal convection in an anisotropic bidisperse porous medium. A bidisperse porous medium is one which possesses the usual pores, but in addition, there are cracks or fissures in the solid skeleton and these give rise to a second porosity known as micro porosity. The novelty of this paper is that the macro permeability and the micro permeability are each diagonal tensors but the three components in the vertical and in the horizontal directions may be distinct in both the macro and micro phases. Thus, there are six independent permeability coefficients. A linear instability analysis is presented and a fully nonlinear stability analysis is inferred. Several Rayleigh number and wave number calculations are presented and it is found that novel cell structures are predicted which are not present in the single porosity case.

1 Introduction

Porous materials which have a double porosity structure are occupying significant research attention. Such materials, which are also known as bidisperse or bidispersive porosity media. contain normal pores as present in a single porosity material, but the solid skeleton contains cracks or fissures which lead to a second porosity which is known as a microporosity.

The fundamental theory for thermal convection in a bidisperse porous medium was presented by Nield & Kuznetsov [1], and these writers further developed the area in Nield & Kuznetsov [2, 3, 4, 5] and in Nield [6]. The theories proposed by Nield and Kuznetsov are based upon independent velocity, temperature and pressure fields in both the macro and micro phases.

Falsaperla *et al.* [7] and Gentile & Straughan [8] employed the Nield -Kuznetsov theory, but they restrict attention to a single temperature field, T. This theory still has independent velocity and pressure fields in both the macro and micro phases and is thus still capable of analysing different behaviour in both structures. For many classes of problem a single temperature field should suffice. If it is known that widely different fluid and solid temperatures are expected such as when a hot fluid is injected into a cold skeleton, cf. Rees *et* al. [9], then perhaps one should consider a theory with separate temperatures in the solid and in the fluid macro and micro phases, cf. Nield & Kuznetsov [1], Franchi et al. [10].

The single temperature theory has been further investigated by Franchi et al. [11], Gentile & Straughan [12], and by Straughan [13, 14]. In particular, Straughan [13, 14] analyses thermal convection in two types of horizontally isotropic (transversely isotropic) bidisperse porous media. Bidisperse porous media are increasingly important in the Chemical Engineering field, see e.g. Enterria et al. [15], Huang et al. [16], Ly et al. [17], Said et al. [18] and they can be man made designer materials and so it is advantageous to allow fully anisotrpic permeabilities at both macro and micro levels. This is the goal of this work. Both the macro and micro permeabilities are taken to be diagonal tensors, but the entries in each are independent and thus there are six permeability coefficients in total.

Thermal convection in anisotropic single porosity media has been intensely studied, see e.g. Capone et al. [19], Harfash [20], Harfash & Hill [21], Karmakar & Raja Sekhar [22], Kuznetsov & Nield [23], Nield & Kuznetsov [24], Rees & Postelnicu [25], Rees & Barletta [26], Rees et al. [27, 28], Rees & Tyvand [29]. Since many real rocks are anisotropic, see e.g. Fazelalani [30], Widarsono et al. [31], this attention is understandable. However, thermal convection in anisotropic bidisperse media has the potential to be much richer than the single porosity case. It is worth pointing out that thermal effects in bidisperse anisotropic porous media have applications in many important areas, see e.g. in chemical engineering, Enterria et al. [15], Huang et al. [16], Ly et al. [17], Said et al. [18]; in landslides, Borja et al. [32], Montrasio et al. [33], Scotto di Santolo & Evangelista [34]; in gas storage in shale, Alnoaimi & Kovscek [35]; in coal stockpiling, Hooman & Maas [36]; in hydraulic fracturing for natural gas, Kim & Moridis [37]; in bone replacement technology, Svanadze & Scalia [38], Zhou et al. [39]; in clinical applications, Dejaco et al. [40], Dufresne et al. [42]; in heat pipe technology, Lin et al. [43], Mottet & Prat [44]; and in many other areas.

The goal in this paper is to present an analysis of linear instability and global nonlinear stability for thermal convection in a fully anisotropic bidispersive porous medium, in the sense that the macro and micro permeabilities may be different in the vertical direction, and in each of the horizontal directions. Details of the linear instability analysis are given while the nonlinear stability results are inferred. The global nonlinear stability boundary is found to be the same as the linear instability one and so our results are optimal and demonstrate that the linear theory captures correctly the physics of the onset of convection.

2 Governing equations

Throughout we follow Nield & Kuznetsov [1] and employ a sub or superscript f to denote the macro phase whereas a sub or superscript p indicates the micro phase. We use standard indicial notation throughout.

Let the permeability tensors in the macro and microphases be K_{ij}^f and K_{ij}^p , let μ be the dynamic viscosity of the saturating fluid, and define the tensors M_{ij}^f and M_{ij}^p by

$$M_{ij}^f = \mu(K_{ij}^f)^{-1}, \qquad M_{ij}^p = \mu(K_{ij}^p)^{-1}.$$
 (1)

In this work K_{ij}^f and K_{ij}^p are diagonal tensors of form

$$\mathbf{K}^{f} = \begin{pmatrix} K_{11}^{f} & 0 & 0\\ 0 & K_{22}^{f} & 0\\ 0 & 0 & K_{33}^{f} \end{pmatrix} \qquad \qquad \mathbf{K}^{p} = \begin{pmatrix} K_{11}^{p} & 0 & 0\\ 0 & K_{22}^{p} & 0\\ 0 & 0 & K_{33}^{p} \end{pmatrix}$$
(2)

The tensors M_{ij}^f and M_{ij}^p take the form

$$\mathbf{M}^{f} = \begin{pmatrix} a_{11} & 0 & 0\\ 0 & a_{22} & 0\\ 0 & 0 & a_{33} \end{pmatrix} \qquad \mathbf{M}^{p} = \begin{pmatrix} b_{11} & 0 & 0\\ 0 & b_{22} & 0\\ 0 & 0 & b_{33} \end{pmatrix}$$
(3)

The governing equations for thermal convection in an anisotropic bidispersive porous medium then have the same form as (2.6), (2.7) of Straughan [14], although the forms for \mathbf{M}^{f} and \mathbf{M}^{p} are different. Thus, the basic equations are

$$-M_{ij}^{f}U_{j}^{f} - \zeta(U_{i}^{f} - U_{i}^{p}) - p_{,i}^{f} + \rho_{F}\alpha gTk_{i} = 0, \qquad U_{i,i}^{f} = 0, -M_{ij}^{p}U_{j}^{p} - \zeta(U_{i}^{p} - U_{i}^{f}) - p_{,i}^{p} + \rho_{F}\alpha gTk_{i} = 0, \qquad U_{i,i}^{p} = 0, \qquad (4)$$
$$(\rho c)_{m}T_{,t} + (\rho c)_{f}(U_{i}^{f} + U_{i}^{p})T_{,i} = \kappa \Delta T.$$

As in Straughan [14], U_i^f, U_i^p are the velocities in the macro and micro pores, p^f, p^p are the pressures in the macro and micro pores, ζ is an interaction coefficient due to the macro and micro pores, ρ_F, α, g are a relative density, coefficient of thermal expansion, and gravity. The terms $(\rho c)_m$ and the thermal conductivity κ have form

$$(\rho c)_m = (1 - \phi)(1 - \epsilon)(\rho c)_s + \phi(\rho c)_f + \epsilon(1 - \phi)(\rho c)_p,$$

$$\kappa = (1 - \phi)(1 - \epsilon)\kappa^s + \phi\kappa^f + \epsilon(1 - \phi)\kappa^p$$
(5)

where c denotes specific heat at constant pressure, s denotes the solid skeleton, ϕ is the micro porosity and ϵ is the macro porosity.

We suppose the bidisperse porous material is contained in the horizontal layer $\{(x, y) \in \mathbb{R}^2\} \times \{0 < z < d\}$ and the boundary conditions are

$$U_3^f = 0, \ U_3^p = 0, \quad \text{on} \quad z = 0, d, \qquad T = T_L, \ z = 0, \quad T = T_U, \ z = d, \quad (6)$$

for constants $T_L > T_U$.

The basic steady conduction solution to (4) and (6) has form

$$\bar{U}_i^f \equiv 0, \quad \bar{U}_i^p \equiv 0, \quad \bar{T} = -\beta z + T_L \,, \tag{7}$$

where $\beta = (T_L - T_U)/d$ is the temperature gradient. Our aim is to investigate the instability and nonlinear stability of this solution.

Introduce the perturbation variables $\{u_i^f, u_i^p, \theta, \pi^f, \pi^p\}$ to the base solution $\{\bar{U}_i^f, \bar{U}_i^p, \bar{T}, \bar{p}^f, \bar{p}^p\}$. We define the variables $\omega, \lambda, m_\alpha, s_\alpha, \alpha = 1, 2$, by

$$b_{33} = \omega a_{33}, \qquad \lambda = \frac{\zeta}{a_{33}}, \qquad m_1 = \frac{a_{11}}{a_{33}}, \qquad m_2 = \frac{a_{22}}{a_{33}}, \qquad s_1 = \frac{b_{11}}{b_{33}}, \qquad s_2 = \frac{b_{22}}{b_{33}}$$
(8)

Introduce the tensors D_{ij}^f and D_{ij}^p as

$$D_{ij}^{f} = \begin{pmatrix} m_{1} & 0 & 0\\ 0 & m_{2} & 0\\ 0 & 0 & 1 \end{pmatrix} \qquad D_{ij}^{p} = \begin{pmatrix} s_{1} & 0 & 0\\ 0 & s_{2} & 0\\ 0 & 0 & 1 \end{pmatrix}$$
(9)

Define the time, velocity, pressure and temperature scales as

$$\mathcal{T} = \frac{(\rho c)_m d^2}{\kappa}, \qquad U = \frac{\kappa}{(\rho c)_f d}, \qquad P = da_{33}U, \qquad T^{\sharp} = U \sqrt{\frac{a_{33}\beta d^2}{k\rho_F \alpha g}},$$

where $k = \kappa/(\rho c)_f$. In addition, the Rayleigh number $Ra = R^2$, is

$$R^2 = \frac{\beta d^2 \rho_F \alpha g}{k a_{33}} \,. \tag{10}$$

(Note that the non-dimensionalization is necessarily different from that of Straughan [14]).

The fully nonlinear non-dimensional perturbation equations governing the behaviour of the variables $u_i^f, u_i^p, \theta, \pi^f$ and π^p are then found to be

$$D_{ij}^{f} u_{j}^{f} + \lambda (u_{i}^{f} - u_{i}^{p}) = -\pi_{,i}^{f} + R\theta k_{i}, \qquad u_{i,i}^{f} = 0,$$

$$\omega D_{ij}^{p} u_{j}^{p} + \lambda (u_{i}^{p} - u_{i}^{f}) = -\pi_{,i}^{p} + R\theta k_{i}, \qquad u_{i,i}^{p} = 0,$$

$$\theta_{,t} + (u_{i}^{f} + u_{i}^{p})\theta_{,i} = R(w^{f} + w^{p}) + \Delta\theta,$$

(11)

where $w^f = u_3^f, w^p = u_3^p$. Equations (11) hold in the domain $\{(x, y) \in \mathbb{R}^2\} \times \{0 < z < 1\} \times \{t > 0\}$. We suppose the perturbation solution satisfies a plane tiling periodicity in the (x, y) directions, and we denote the periodicity cell by V. The boundary conditions are

$$w^{f} = w^{p} = \theta = 0, \quad \text{on} \quad z = 0, 1.$$
 (12)

3 Thermal convection

In Straughan [13], pp. 4–6, it is shown that for a system of equations more general than (11), (12), exchange of stabilities holds and the global nonlinear stability threshold for R is the same as the one obtained by linear instability

theory. Thus, we employ this result for (11), (12), and hence the nonlinear stability boundary may be obtained by ignoring the $\theta_{,t}$ and nonlinear terms in (11)₅. Full details of the proof of equivalence of the linear instability and nonlinear stability boundaries is given in Straughan [13], pp. 4–6.

It is now advantageous to write out explicitly equations (11). Thus, let $\mathbf{u}^f = (u^f, v^f, w^f)$ and let $\mathbf{u}^p = (u^p, v^p, w^p)$. In this section we dispense with the comma notation for a derivative and denote partial derivatives with respect to x, y or z by a subscript x, y or z. For example, $\pi_x^f = \partial \pi^f / \partial x$, or $\pi_{xz}^f = \partial^2 \pi^f / \partial x \partial z$, etc. Then, equations (11)₁₋₄ and the reduced form of (11)₅ after dropping $\theta_{,t}$ and the nonlinear terms become

$$m_1 u^f + \lambda u^f - \lambda u^p = -\pi_x^f, \qquad m_2 v^f + \lambda v^f - \lambda v^p = -\pi_y^f, \tag{13}$$

$$\omega s_1 u^p + \lambda u^p - \lambda u^f = -\pi_x^p, \qquad \omega s_2 v^p + \lambda v^p - \lambda v^f = -\pi_y^p, \qquad (14)$$

and

$$w^{f} + \lambda w^{f} - \lambda w^{p} = -\pi_{z}^{f} + R\theta, \qquad \omega w^{p} + \lambda w^{p} - \lambda w^{f} = -\pi_{z}^{p} + R\theta, \quad (15)$$

and

$$u_x^f + v_y^f + w_z^f = 0, \qquad u_x^p + v_y^p + w_z^p = 0, \tag{16}$$

together with

$$Rw^f + Rw^p + \Delta\theta = 0. \tag{17}$$

Define M and S by

$$M = m_1 s_1 \omega + \lambda (\omega s_1 + m_1), \qquad S = \omega m_2 s_2 + \lambda (\omega s_2 + m_2).$$

We then solve equations (13) for u^f and u^p and we solve equations (14) for v^f and v^p to see that

$$u^{f} = \frac{1}{M} \left[-(\omega s_{1} + \lambda)\pi_{x}^{f} - \lambda \pi_{x}^{p} \right], \qquad u^{p} = \frac{1}{M} \left[-(m_{1} + \lambda)\pi_{x}^{p} - \lambda \pi_{x}^{f} \right],$$

$$v^{f} = \frac{1}{S} \left[-(\omega s_{2} + \lambda)\pi_{y}^{f} - \lambda \pi_{y}^{p} \right], \qquad v^{p} = \frac{1}{S} \left[-(m_{2} + \lambda)\pi_{y}^{p} - \lambda \pi_{y}^{f} \right].$$
(18)

One now differentiates equations (18) with respect to z and likewise one differentiates equations (15) with respect to x and y. Eliminate the terms $\pi_{xz}^f, \pi_{yz}^p, \pi_{yz}^f$ and π_{yz}^p between the results to find

$$u_z^f = \left[\frac{\omega s_1(1+\lambda) + \lambda}{M}\right] w_x^f + \left[\frac{\lambda \omega(1-s_1)}{M}\right] w_x^p - R\theta_x \left(\frac{\omega s_1 + 2\lambda}{M}\right)$$
(19)

and

$$u_z^p = \left[\frac{\omega m_1 + \lambda(m_1 + \omega)}{M}\right] w_x^p + \left[\frac{\lambda(1 - m_1)}{M}\right] w_x^f - R\theta_x \left(\frac{m_1 + 2\lambda}{M}\right)$$
(20)

and

$$v_z^f = \left[\frac{\omega s_2 + \lambda(1 + \omega s_2)}{S}\right] w_y^f + \left[\frac{\lambda \omega(1 - s_2)}{S}\right] w_y^p - R\theta_y \left(\frac{\omega s_2 + 2\lambda}{S}\right)$$
(21)

and finally

$$v_z^p = \left[\frac{\omega m_2 + \lambda(m_2 + \omega)}{S}\right] w_y^p + \left[\frac{\lambda(1 - m_2)}{S}\right] w_y^f - R\theta_y \left(\frac{m_2 + 2\lambda}{S}\right).$$
(22)

Now differentiate equations (19) - (22) to form the quantities $u_{zx}^f, v_{zy}^f, u_{zx}^p$ and v_{zy}^p and use the incompressibility conditions (16) to see that

$$u_{zx}^{f} + v_{zy}^{f} = -w_{zz}^{f}, \qquad u_{zx}^{p} + v_{zy}^{p} = -w_{zz}^{p}.$$
(23)

Upon substitution of the relevant forms for $u_{zx}^f, v_{zy}^f, u_{zx}^p$ and v_{zy}^p into (23) we arrive at the equations

$$-w_{zz}^{f} = w_{xx}^{f} \left[\frac{\omega s_{1}(1+\lambda) + \lambda}{M} \right] + w_{xx}^{p} \left[\frac{\lambda \omega (1-s_{1})}{M} \right] - R\theta_{xx} \left(\frac{\omega s_{1}+2\lambda}{M} \right) + w_{yy}^{f} \left[\frac{\omega s_{2}+\lambda (1+\omega s_{2})}{S} \right] + w_{yy}^{p} \left[\frac{\lambda \omega (1-s_{2})}{S} \right] - R\theta_{yy} \left(\frac{\omega s_{2}+2\lambda}{S} \right)$$
(24)

and

$$-w_{zz}^{p} = w_{xx}^{f} \left[\frac{\lambda(1-m_{1})}{M} \right] + w_{xx}^{p} \left[\frac{m_{1}\omega + \lambda(m_{1}+\omega)}{M} \right] - R\theta_{xx} \left(\frac{m_{1}+2\lambda}{M} \right) + w_{yy}^{f} \left[\frac{\lambda(1-m_{2})}{S} \right] + w_{yy}^{p} \left[\frac{m_{2}\omega + \lambda(\omega+m_{2})}{S} \right] - R\theta_{yy} \left(\frac{m_{2}+2\lambda}{S} \right)$$
(25)

These equations coupled with (17) yield a system of three equations for w^f, w^p and θ . One now employs normal modes in w^f, w^p and θ with forms such as $w^f = \hat{w}^f \sin n\pi z \exp(\sigma t + ilx + imy)$ where \hat{w}^f is a constant and we may take $\sigma = 0$.

This leads to the system of equations

$$c_{11}\hat{w}^{f} + c_{12}\hat{w}^{p} - c_{13}R\hat{\theta} = 0,$$

$$c_{21}\hat{w}^{f} + c_{22}\hat{w}^{p} - c_{23}R\hat{\theta} = 0,$$

$$R\hat{w}^{f} + R\hat{w}^{p} - H\hat{\theta} = 0,$$
(26)

where

$$H = n^2 \pi^2 + l^2 + m^2,$$

and where

$$c_{11} = n^{2}\pi^{2} + l^{2} \left[\frac{\omega s_{1}(1+\lambda) + \lambda}{M} \right] + m^{2} \left[\frac{\omega s_{2} + \lambda(1+\omega s_{2})}{S} \right],$$

$$c_{12} = l^{2} \left[\frac{\lambda \omega(1-s_{1})}{M} \right] + m^{2} \left[\frac{\omega \lambda(1-s_{2})}{S} \right],$$

$$c_{13} = l^{2} \left[\frac{\omega s_{1} + 2\lambda}{M} \right] + m^{2} \left[\frac{\omega s_{2} + 2\lambda}{S} \right],$$

$$c_{21} = l^{2} \left[\frac{\lambda(1-m_{1})}{M} \right] + m^{2} \left[\frac{\lambda(1-m_{2})}{S} \right],$$

$$c_{22} = n^{2}\pi^{2} + l^{2} \left[\frac{\omega m_{1} + \lambda(m_{1} + \omega)}{M} \right] + m^{2} \left[\frac{\omega m_{2} + \lambda(\omega + m_{2})}{S} \right],$$

$$c_{23} = l^{2} \left[\frac{m_{1} + 2\lambda}{M} \right] + m^{2} \left[\frac{m_{2} + 2\lambda}{S} \right].$$
(27)

We require a zero determinant for (26) and this leads to the expression for \mathbb{R}^2 ,

$$R^{2} = \frac{H(c_{11}c_{22} - c_{12}c_{21})}{[c_{11}c_{23} + c_{22}c_{13} - c_{21}c_{13} - c_{23}c_{12}]}.$$
(28)

The critical Rayleigh number is found by minimizing R^2 in n^2, l^2 and m^2 . One may show that the numerator is greater than or equal to zero and we have also shown that the denominator is strictly positive. For all the computations we have performed, the minimum has been achieved for n = 1.

The next section discusses numerical results for the minimization of R^2 in l and m with R^2 given by (28) with n = 1.

4 Numerical results and conclusions

4.1 One porosity

In this section we report numerical solutions for the minimization of R^2 given by (28). However, it is instructive to recollect results for the thermal convection problem in a single porous material when the anisotropic permeability is due to a diagonal permeability tensor of form $K_{ij} = \text{diag} \{K_{11}, K_{22}, K_{33}\}$. This problem was analysed in detail by Kvernvold & Tyvand [45]. If we write $M_{ij} = \mu(K_{ij})^{-1}$ and set $M_{ij} = \text{diag} (a_{11}, a_{22}, a_{33})$ then for a single porosity material the governing equations are

$$M_{ij}v_j = -p_{,i} + \alpha g\rho_F T k_i, \qquad v_{i,i} = 0, \qquad T_{,t} + v_i T_{,i} = \kappa \Delta T.$$
(29)

With the analogous boundary conditions to (12) one may show exchange of stabilities holds and so the stability problem is governed by the system of perturbation equations

$$D_{ij}u_j = -\pi_{,i} + R\theta k_i, \qquad u_{i,i} = 0, \qquad 0 = Rw + \Delta\theta, \tag{30}$$

where $D_{ij} = \text{diag}(m_1, m_2, 1), m_1 = a_{11}/a_{33}, m_2 = a_{22}/a_{33}, \text{and } R^2 = \beta d^2 \alpha g \rho_F / \kappa a_{33}$ is the Rayleigh number. One shows from (30) that R^2 is given by

$$R^{2} = (\pi^{2} + l^{2} + m^{2}) \left[1 + \frac{\pi^{2}}{\left(\frac{l^{2}}{m_{1}} + \frac{m^{2}}{m_{2}}\right)} \right].$$
 (31)

As noted by Kvernvold & Tyvand [45], when $m_1 = m_2$, R^2 depends only on $a^2 = l^2 + m^2$ and then the critical wave number and Rayleigh number values are given by

$$a_c = \pi m_1^{1/4}, \qquad Ra_c = \pi^2 (1 + \sqrt{m_1})^2.$$
 (32)

Suppose $0 < m_1 < m_2$. By differentiating (31) with respect to l and assuming m = 0 one sees that on the m = 0 boundary R^2 has a minimum when $l^2 = \pi^2 \sqrt{m_1}$ and when $R_{min}^2 = \pi^2 (1 + \sqrt{m_1})^2$. Then, for $m \neq 0$, $m^2/m_2 < m^2/m_1$ and so $1/(l^2/m_1 + m^2/m_2) > 1/(a^2/m_1)$. Therefore, from (31),

$$Ra = R^2 > (\pi^2 + a^2) \left(1 + \frac{\pi^2 m_1}{a^2} \right) = Ra_1.$$

From (32) we know the minimum value of Ra_1 is $\pi^2(1+\sqrt{m_1})^2$ and so

$$Ra > \pi^2 (1 + \sqrt{m_1})^2.$$

Thus, when $m_1 < m_2$ the minimum value of Ra from (31) is given when m = 0and when

$$l = \pi m_1^{1/4}, \qquad Ra_c = \pi^2 (1 + \sqrt{m_1})^2.$$
 (33)

A similar argument may be applied with $0 < m_2 < m_1$, noting then for $l \neq 0$, $1/(m^2/m_2 + l^2/m_1) > 1/(a^2/m_2)$ and one may deduce

$$Ra \ge (\pi^2 + a^2) \left(1 + \frac{\pi^2 m_2}{a^2} \right) = Ra_2.$$

The minimum of Ra_2 is when l = 0 and $m = \pi m_2^{1/4}$ and $Ra_c = \pi^2 (1 + \sqrt{m_2})^2$.

Thus, when $m_1 = m_2$, $a = m_1^{1/4} \pi$ and $Ra_c = \pi^2(1 + \sqrt{m_1})^2$; when $m_1 < m_2$, $m = 0, l = m_1^{1/4} \pi$, $Ra_c = \pi^2(1 + \sqrt{m_1})^2$; and when $m_2 < m_1$, l = 0 and $Ra_c = \pi^2(1 + \sqrt{m_2})^2$. Thus, when $m_1 < m_2$ instability is initiated with rolls with axis in the y-direction. Let $\mathbf{K} = \text{diag} \{K_{11}, K_{22}, K_{33}\}$ be the permeability tensor in the one porosity case, then $m_1 < m_2$ is equivalent to $K_{22} < K_{11}$ and so the horizontal permeability is larger in the x-direction and as a consequence it is easier for the fluid to move in the x-direction rather than in the y-direction. Thus, rolls aligned along the y-axis are to be expected physically. When $m_2 < m_1$ instability is initiated with rolls aligned along the x-direction. The condition $m_2 < m_1$ is equivalent to $K_{11} < K_{22}$ and with the horizontal permeability being greater in the y-direction one expects movement in the y and z directions and, therefore, rolls along the x-axis are expected physically. These are results of Kvernvold & Tyvand [45], but they are important to understand the bidisperse case studied here.

4.2 Dual porosity

The case where $m_1 = m_2 = s_1 = s_2$ but $\omega = b_{33}/a_{33} = K_{33}^J/K_{33}^p \neq 1$ is analysed in Straughan [13]. The more general case, $m_1 = m_2$, $s_1 = s_2$ but $m_1 \neq s_1$ and $\omega \neq 1$ is covered in Straughan [14]. However, care must be taken when comparing the results of those articles with the present one since the Rayleigh number, Ra, and interaction parameter, λ , in those works differs from the ones used here in (8) and (10).

The results for the minimization of R^2 given by (28) over l and m are reported in tables 1 - 12. Tables 1 and 2 take $m_1 = 10, m_2 = 1, s_1 = 0.1$ and $s_2 = 1$ and vary ω with $\lambda = 0.1$ or 0.5. Tables 4 - 6 choose $m_1 = 0.1, m_2 = 1, s_1 = 10, s_2 = 1$ and vary ω with $\lambda = 0.01, 0.1$ and 0.5. In table 8 we set $m_1 = 5, m_2 = 0.9, s_1 = 0.3, s_2 = 1.1, \lambda = 0.1$ and ω is varied. Tables 9 - 12 take $\omega = 5, \lambda = 0.1$ and we choose the same m_{α} and s_{α} values as in table 8 except we vary m_1, m_2, s_1 and s_2 in turn to assess the effect each variable has upon the Rayleigh number, Ra, and the critical wavenumbers l and m.

In the tables the numbers \hat{x} and \hat{y} are the wavelength in the x and y directions given by $\hat{x} = 2\pi/l$ and $\hat{y} = 2\pi/m$. When $\hat{y}/\hat{x} = 0$ then l = 0, the solution is a function of y and z and so the convection cells are rolls in the x-direction. When $\hat{y}/\hat{x} \to \infty$ then m = 0 and the solution is a function of x and z. In this case the cells are rolls in the y-direction.

It is useful to recollect the relations

$$\omega = \frac{b_{33}}{a_{33}} = \frac{K_{33}^f}{K_{33}^p}, \quad m_1 = \frac{K_{33}^f}{K_{11}^f}, \quad m_2 = \frac{K_{33}^f}{K_{22}^f}, \quad s_1 = \frac{K_{33}^p}{K_{11}^p}, \quad s_2 = \frac{K_{33}^p}{K_{22}^p}.$$
(34)

4.3 Relatively large values of m_{α}

In both tables 1 and 2 we observe that for ω small enough the critical value of l is zero and so the convection patterns are rolls with the axis in the x-direction. As ω increases there is a transition to where the convection patterns become cells with non-zero l and m values. Once ω increases further eventually the convection patterns become rolls along the x-axis again. The transition values depend on ω , but also on what value the interaction parameter λ has. For $\lambda = 0.1$, the smaller value, we see that the first transition from a roll to a cell is for $\omega = 0.04$, whereas the transition back to a roll occurs when $\omega = 10.00$; the transition values of ω are generally reported to 2 decimal places.

The equivalent transition values for rolls to cells and then from cells to rolls when $\lambda = 0.5$ occur for $\omega = 1.00$ and $\omega = 10.00$, respectively. The maximum value of \hat{y}/\hat{x} when $\lambda = 0.1$ occurs for ω near 0.3, while for $\lambda = 0.5$ the maximum is for ω near 2.5, although the values at this maximum differ a lot. When $\omega = 0.3$ and $\lambda = 0.1$ we see that $\hat{y}/\hat{x} = 1.279$ whereas when $\omega = 2.5$ and $\lambda = 0.5$ we note $\hat{y}/\hat{x} = 0.310$. Since $\omega = K_{33}^f/K_{33}^p$ it means that when this ratio is small or it is large rolls in the x-direction are found. For the parameters in tables 1 and 2 one has $K_{33}^f = K_{22}^f = 10K_{11}^f$ and $K_{33}^p = K_{22}^p = 0.1K_{11}^p$, thus $K_{22}^f >> K_{11}^f$ whereas $K_{22}^p << K_{11}^p$. Thus, when ω is small or large it appears

that the macro permeability is playing a leading role since the larger value of K_{22}^f allows the fluid to move easier in the y and z directions creating rolls along the x-axis. When ω has values closer to 1 then K_{33}^f and K_{33}^p are closer and it would appear that the macro permeability favours convective movement in the y and z directions whereas the micro permeability is tending to create convective movement in the x and z directions. Thus, rolls are not predicted and a three-dimensional cellular pattern is expected. We might expect a hexagonal pattern (with generally elongated hexagonal cells), but the analysis given here cannot confirm this.

To interpret the Rayleigh number effect physically we employ a different measure because from (10) one observes that the Rayleigh number depends on a_{33} and, consequently, invoking (1), (2) and (3) it depends on K_{33}^f . Upon using (10), (1), (2), (3) and (34), one observes that for fixed K_{33}^p , we may write

$$\frac{Ra}{\omega} = C\,\Delta T,\tag{35}$$

where the constant C is given by $C = \rho_F \alpha g K_{33}^p / k\mu$, and $\Delta T = T_L - T_U$. For a fixed depth of layer the measure Ra/ω indicates the temperature difference required to initiate convective overturning. Table 3 shows how Ra/ω varies with different values of λ . One sees that as λ increases the equivalent Ra/ω values increase indicating that the layer is more stable. This is to be expected since the λ term is stabilizing and increasing Ra/ω means it is less easy for the layer to initiate convective overturning.

From tables 1 and 2 we also note that as ω increases $Ra/\omega = C \Delta T$ decreases substantially. Since $\omega = K_{33}^f/K_{33}^p$ we might expect increasing K_{33}^f relative to K_{33}^p will increase the likelihood of convective overturning and so the layer convects more easily as ω increases. This is precisely what is seen in tables 1 and 2.

4.4 Relatively small values of m_{α}

Tables 4 - 6 concentrate on another set of values for permeability ratios m_1, m_2, s_1 and s_2 , namely when $m_1 = 0.1$, $m_2 = 1$, $s_1 = 10$ and $s_2 = 1$. This means that $0.1K_{11}^f = K_{33}^f = K_{22}^f$ and $K_{22}^p = K_{33}^p = 10K_{11}^p$, and so $K_{11}^f >> K_{22}^f$ and $K_{22}^p >> K_{11}^p$. Here, we allow λ to take the values 0.01, 0.1 and 0.5 and we analyse the effect of varying $\omega = K_{33}^f/K_{33}^p$.

For all three cases of λ reported the qualitative pattern of convection structure is similar. When ω is small the critical value of l is 0 and so the solution depends on y and z which corresponds to rolls aligned along the x-axis. As ω increases the rolls disappear and both l and m are non-zero corresponding to three - dimensional convection cells. Then for ω large enough the critical value of m becomes zero and the solution depends on x and z which means the cells transform to rolls aligned along the y-axis. The transition value for ω when the x-axis rolls change to cells is $\omega = 0.10$, $\omega = 0.10$ and $\omega = 1.00$, for $\lambda = 0.01, 0.1$ and 0.5, respectively. The transition from the cell to rolls along the y-axis occurs when $\omega = 1.83$, $\omega = 2.69$ and $\omega = 8.95$, for $\lambda = 0.01, 0.1$ and 0.5, respectively.

It is noteworthy that the transition pattern is different with the values in tables 4 - 6 to that observed with the values in tables 1 and 2. For the case of tables 4 - 6 we have $K_{33}^f = K_{22}^f << K_{11}^f$ and $K_{33}^p = K_{22}^p >> K_{11}^p$. For the transitions at the larger values of ω we have (all three cases of λ) $K_{33}^f > K_{33}^p$. Thus,

$$K_{11}^f >> K_{22}^f = K_{33}^f > K_{33}^p = K_{22}^p >> K_{11}^p.$$

In this case we might expect the macro permeabilities to dominate. This would mean the fluid finds it easier to move in the x-direction and the solution will depend on x and z with rolls along the y-axis. This is precisely what we find numerically as noted above for $\omega = 1.83$, $\omega = 2.69$ and $\omega = 8.95$.

It appears trickier to interpret the transition for the smaller values of ω . In this case we have $K_{33}^f = K_{22}^f << K_{11}^f$ and $K_{33}^p = K_{22}^p >> K_{11}^p$ but for the values of $\lambda = 0.01$ and 0.1, $\omega = 0.10$ and $\omega = 0.10$. Thus, in this situation, at the transition

$$10K_{22}^f = 10K_{33}^f = 10K_{11}^p = K_{11}^f = K_{22}^p = K_{33}^p.$$

Hence,

$$K_{22}^f = K_{33}^f = K_{11}^p << K_{11}^f = K_{22}^p = K_{33}^p.$$

The buoyancy force contribution in this case is determined from K_{33}^p which is much greater than the macro vertical permeability K_{33}^f . Thus, the terms which appear to dominate are K_{22}^p and K_{33}^p . This encourages motion in the y and zdirections and gives rise to solutions which are rolls aligned along the x-axis. This is seen in tables 4 and 5 where l = 0 for $\omega \leq 0.10$. Thus, the micro permeability appears to dominate the convection cell pattern.

For the value of $\lambda = 0.5$ as in table 6 the lower transition value for ω is $\omega = 1.00$. In this case at the transition we have the situation

$$K_{11}^f = 10K_{22}^f = 10K_{33}^f = 10K_{33}^p = 10K_{22}^p = 100K_{11}^p.$$

Thus,

$$K_{11}^f >> K_{22}^f = K_{33}^f = K_{33}^p = K_{22}^p >> K_{11}^p.$$
(36)

Even though K_{11}^f is the dominant permeability coefficient we see from table 6 that for $\omega \leq 1.00$ one has l = 0. To interpret this physically we note from (36) that $K_{22}^f = K_{22}^p$ and $K_{33}^f = K_{33}^p$ and these are equal. Thus, the buoyancy force is aided by the K_{33}^f and K_{33}^p permeabilities and the combined K_{22}^f and K_{22}^p coefficients lead to convective motion in the y and z directions and thus one finds l = 0 and rolls aligned with the x-axis. At the transition value of $\omega = 1.00$ we find $Ra = 2\pi^2$, $m = \pi$, as may be confirmed by minimization of R^2 in (28), taking l = 0 and minimizing in m.

In all cases the critical Rayleigh number increases as ω increases. Table 7 shows how Ra/ω varies with ω for different values of λ . One observes that as

 λ increases, the ΔT threshold is increased. Since λ is a stabilizing term this is expected physically and corresponds to the layer being less easy to convect.

Furthermore, from tables 4 - 6, as ω increases, Ra/ω decreases strongly indicating that a small value of ΔT is required to initiate convective overturning. Thus, increasing K_{33}^f promotes convective overturning and effectively makes the layer less stable. This effect is also observed in table 8.

4.5 Different m_{α}, s_{α} values

In table 8 we select $m_1 = 5$, $m_2 = 0.9$, $s_1 = 0.3$ and $s_2 = 1.1$, with $\lambda = 0.1$. We show the variation of Ra, l and m as ω is varied. However, we include tables 9 - 12 to examine the effect of varying m_1, m_2, s_1 and s_2 in turn, keeping $\omega = 5$ but the other parameters as in table 8. The results display a complex relationship between the macro and micro permeability values and the critical Rayleigh and wave numbers.

Table 8 shows that the critical Rayleigh number increases with increasing ω . For the m_{α} and s_{α} values chosen in table 8 we have

$$K_{33}^f = 5K_{11}^f, \ K_{33}^f = 0.9K_{22}^f, \ K_{33}^p = 0.3K_{11}^p \text{ and } K_{33}^p = 1.1K_{22}^p.$$

Thus,

$$K_{22}^f > K_{33}^f >> K_{11}^f$$
 and $K_{11}^p >> K_{33}^p > K_{22}^p$. (37)

For the transition at the larger values of ω from table 8 we observe that when $\omega \geq 3.15$ one finds l = 0. Since $\omega = K_{33}^f/K_{33}^p$ this means $K_{33}^f/K_{33}^p \geq 3.15$ and so $K_{33}^f >> K_{33}^p$. Thus, in this case, using (37) it appears that the macro permeabilities are dominating the situation and K_{22}^f and K_{33}^f lead to the solution being a function of y and z and so to rolls aligned along the x-axis with l = 0. This is what is seen in table 8.

The transition at $\omega = 0.042$ is somewhat akin to that discussed above for table 6. At the transition value $\omega = 0.042$ one has, coefficients to 2 decimal places,

$$K_{11}^p = 3.33 K_{33}^p = 3.67 K_{22}^p = 71.36 K_{22}^f = 79.29 K_{33}^f = 396.44 K_{11}^f.$$
(38)

The K_{11}^p permeability value is dominant. However, the numerical results indicate l = 0 and rolls along the x-axis. However, from (38) we see that K_{33}^p and K_{22}^p are close together, as are K_{22}^f and K_{33}^f , with K_{11}^f being much smaller. Thus, it appears the y and z values of \mathbf{K}^p and \mathbf{K}^f are reinforcing each other and ensuring the convective motion is in the form of a solution in y and z and so rolls aligned along the x-axis. For values of ω between 0.042 and 3.15 there is an interaction effect of both the macro and micro permeabilities which leads to cells involving non-zero values of both l and m.

4.6Variation of m_1 and m_2

In table 9 ω is fixed at value 5, hence $K_{33}^f = 5K_{33}^p$. Also, $m_2 = 0.9, s_1 = 0.3$ and $s_2 = 1.1$. Thus

$$0.9K_{22}^f = K_{33}^f = 5K_{33}^p = 1.5K_{11}^p = 5.5K_{22}^p.$$

This means that

$$K_{22}^f > K_{33}^f > K_{11}^p >> K_{33}^p > K_{22}^p.$$
(39)

When $m_1 \ge 2.20$ it is seen numerically that l = 0 and rolls along the *x*-axis form. This inequality on m_1 means $K_{33}^f \ge 2.20 K_{11}^f$ so

$$K_{22}^f > K_{33}^f >> K_{11}^f.$$

Since these values are larger than the micro permeability values, see (39), it follows that the fluid moves in the macro pores in the y and z directions and this is consistent with rolls aligned along the x-axis.

At the other transition in table 9, $m_1 \leq 1.041$. Inequalities (39) still hold but now $K_{33}^f \leq 1.041 K_{11}^f$, and $K_{22}^f \leq 1.157 K_{11}^f$. From (39) $K_{11}^p >> K_{33}^p > K_{22}^p$ and with the K_{11}^f values now being close to or much smaller than the K_{22}^f values the solution switches to one depending on x and z, and so rolls along the y-axis are witnessed. For m_1 in the region (1.041,2.2) the macro and micro effects counterbalance each other and three-dimensional cells are found. For table 10, $K_{33}^f = 5K_{11}^f$, $K_{33}^f = 5K_{33}^p$, $K_{33}^p = 0.3K_{11}^p$ and $K_{33}^p = 1.1K_{22}^p$.

Thus,

$$K_{33}^f = 5K_{11}^f = 5K_{33}^p = 1.5K_{11}^p = 5.5K_{22}^p$$

Hence,

$$K_{33}^f > K_{11}^p >> K_{11}^f = K_{33}^p > K_{22}^p.$$
 (40)

For the transition to x-rolls, $m_2 \leq 2.095$, or $5K_{11}^f = K_{33}^f \leq 2.095K_{22}^f$. Therefore,

$$K_{22}^f \ge \frac{5}{2.095} K_{11}^f \approx 2.39 K_{11}^f.$$

Since from (40) K_{33}^f dominates the buoyancy effect it appears K_{33}^f and K_{22}^f will play the major role in determining solution structure and so this in turn will depend on y and z and lead to x-rolls as seen in table 10.

For the next transition where y-rolls are seen, $m_2 \geq 4.255$. Hence, $K_{33}^f \geq$ $4.255K_{22}^f$ and $K_{33}^f = 5K_{11}^f$. This suggests the micro permeabilities also come into play. Relations (40) still hold and so since $K_{11}^p >> K_{22}^p$ we expect the solution to depend on x and z and so y-rolls are found, as seen in table 10. For $m_2 \in (2.095, 4.255)$ three-dimensional cells are observed according to table 10.

4.7Variation of s_1 and s_2

In table 11 we have $K_{33}^f = 5K_{33}^p$, $K_{33}^f = 5K_{11}^f$, $K_{33}^f = 0.9K_{22}^f$ and $K_{33}^p = 1.1K_{22}^p$. This means

$$K_{22}^J > K_{33}^J >> K_{11}^J.$$

This favours the formation of x-rolls. The transition is when $s_1 \ge 0.22$. Thus, we have

$$1.1K_{22}^p = K_{33}^p \ge 0.22K_{11}^p$$

and so

$$K_{22}^p \ge 0.2K_{11}^p$$

This also favours the production of x-rolls. It should be observed, however, that when $s_1 \leq 0.21$ the micro permeabilities are having a pronounced effect and lead to the predicition of three-dimensional cells.

In table 12 the values are such that

$$K_{33}^f = 5K_{33}^p = 5K_{11}^f = 0.9K_{22}^f = 1.5K_{11}^p$$

Thus,

$$K_{22}^f > K_{33}^f > K_{11}^p >> K_{33}^p = K_{11}^f$$

This would suggest that the macro permeabilities are dominating convection, $K_{33}^f >> K_{33}^p$, and since $K_{22}^f > K_{33}^f$ one might expect *x*-rolls. This is seen in table 12 provided $K_{33}^p \leq 1.5K_{22}^p$. However, once $K_{33}^p > 1.5K_{22}^p$ the micro permeability effects become important and the solution transfers to three-dimensional convection cells.

There are two special cases worth mentioning. The first is where a) $s_1 = s_2$ and m_{α} vary, or where b) $m_1 = m_2$ and s_{α} vary. In this case the solution behaves as in the one porosity situation in that for case a) with $m_1 = m_2$ and then b) with $s_1 = s_2$ the switch is from x-rolls to y-rolls without any intermediate region where three-dimensional cells form, excepting for one special value where the minimization depends only on $a^2 = l^2 + m^2$. For example, if we take $s_1 = s_2 = 1, m_2 = 0.9, \lambda = 0.1, \omega = 3$ when we select $m_1 = 0.9$ and perform the minimization we find Ra = 29.440 and $a^2 = 9.518$. As another example, take $m_1 = m_2 = 1, s_2 = 0.9, \lambda = 0.1, \omega = 3$. Then when $s_1 = 0.9$ we find Ra = 30.048 and $a^2 = 9.716$.

In tables 9-11 one observes that for $m_1 \ge 2.2$, for $m_2 \ge 4,255$ and for $s_1 \ge 0.22$, respectively, then Ra and the appropriate non-zero value of m or l do not change. This may be explained by inspection of (28) and taking l = 0 for the situation of tables 9 and 11 and m = 0 for table 10. It is seen in that case that when m = 0 certain c_{ij} terms contain no m_2 or s_2 , or when l = 0, c_{ij} terms contain no m_1 or s_1 .

We conclude that the fully anisotropic bidispersive problem contains many interesting effects which await experimental observation. What is now very much required are numerical values for real materials for the interaction coefficient ζ and the macro and micro permeability coefficients. An analysis akin to that of Rees [46, 47] where he cleverly produced estimates for coefficients in a local thermal non-equilibrium porous material would be very welcome in the bidispersive case.

Acknowledgments This work was funded with the aid of a Leverhulme Emeritus Fellowship, no. EM-2019-022/9

References

- [1] Nield, D.A. and Kuznetsov, A.V. 2006 The onset of convection in a bidisperse porous medium. *Int. J. Heat Mass Transfer*, **49**, 3068–3074.
- [2] Nield, D.A. and Kuznetsov, A.V. 2004 Forced convection in a bidisperse porous medium channel: conjugate problem. Int. J. Heat Mass Transfer, 47, 5375–5380.
- [3] Nield, D.A. and Kuznetsov, A.V. 2007 The effect of combined vertical and horizontal heterogeneity on the onset of convection in a bidisperse porous medium. Int. J. Heat Mass Transfer, 50, 3329–3339.
- [4] Nield, D.A. and Kuznetsov, A.V. 2008 Natural convection about a vertical plate embedded in a bidisperse porous medium. *Int. J. Heat Mass Transfer*, 51, 1658–1664.
- [5] Nield, D.A. and Kuznetsov, A.V. 2013 A note on modelling high speed flow in a bidisperse porous medium. *Trans. Porous Media*, 96, 495–499.
- [6] Nield, D.A. 2016 A note on the modelling of a bidispersive porous media. *Trans. Porous Media*, **111**, 517–520.
- [7] Falsaperla, P., Mulone, G. and Straughan, B. 2016 Bidispersive inclined convection. Proc. Roy. Soc. London A, 472, 20160480.
- [8] Gentile, M. and Straughan, B. 2017 Bidispersive thermal convection. Int. J. Heat Mass Transfer, 114, 837–840.
- [9] Rees DAS, Bassom AP, Siddheshwar PG. 2008 Local thermal nonequilibrium effects arising from the injection of a hot fluid into a porous medium. J. Fluid Mech., 594, 379–398.
- [10] Franchi, F., Nibbi, R. and Straughan, B. 2017 Modelling bidispersive local thermal non-equilibrium flow. *Fluids*, 2, 48.
- [11] Franchi, F., Nibbi, R. and Straughan, B. 2017 Continuous dependence on modelling for temperature dependent bidispersive flow. *Proc. Roy. Soc. London A*, 473, 20170485.
- [12] Gentile, M. and Straughan, B. 2017 Bidispersive vertical convection. Proc. Roy. Soc. London A, 473, 20170481.
- [13] Straughan, B. 2018 Horizontally isotropic bidispersive thermal convection. Proc. Roy. Soc. London A, 474, 20180018.
- [14] Straughan, B. 2019 Horizontally isotropic double porosity convection. Proc. Roy. Soc. London A, 475, 20180672.

- [15] Enterria M, Suarez-Garcia F, Martinez-Alonso A, Tascon J. M. D. 2014 Preparation of hierarchical micro-mesoporous aluminosilicate composites by simple Y zeolite / MCM-48 silica assembly. J. Alloys and Compounds, 583, 60–69.
- [16] Huang YG, Shirota Y, Wu MY, Su SQ, Yao ZS, Kang S, Kanegawa S, Li GL, Wu SQ, Kamachi T, Yoshizawa K, Ariga K, Hong MC, Sata O. 2016 Superior thermoelasticity and shape-memory nanopores in a porous supramolecular organic framework. *Nature Communications*, 7, 11564.
- [17] Ly HB, Droumaguet BL, Monchiet V, Grande D. 2015 Facile fabrication of doubly porous polymeric materials with controlled nano- and microporosity. *Polymer*, 78, 13–21.
- [18] Said B, Grandjean A, Barre Y, Tancret F, Fajula F, Galameau A. 2016 LTA zeolite monoliths with hierarchical trimodal porosity as highly efficient microreactors for strontium capture in continuous flow. *Microporous amd Mesoporous Materials*, 232, 39–52.
- [19] Capone F, Gentile M, Hill AA. 2011 Double diffusive penetrative convection simulated via internal heating in an anisotropic porous layer with throughflow. Int. J. Heat Mass Transfer 54, 1622–1626.
- [20] Harfash AJ. 2014 Three-dimensional simulations for convection problems in anisotropic porous media with nonhomogeneous porosity, thermal diffusivity, and variable gravity effects. *Trans. Porous Media* **102**, 43–57.
- [21] Harfash AJ, Hill AA. 2014 Simulation of three-dimensional double-diffusive throughflow in internally heated anisotropic porous media. Int. J. Heat Mass Transfer 72, 609–615.
- [22] Karmakar T, Raja Sekhar, GP. 2017 A note on flow reversal in a wavy channel filled with anisotropic porous material. *Proc. Roy. Soc. London A* 473, 20170193.
- [23] Kuznetsov, A.V. and Nield, D.A. 2011 The effects of combined horizontal and vertical heterogeneity on the onset of convection in a porous medium with vertical throughflow. *Trans. Porous Media* **90**, 465–478.
- [24] Nield, D.A. and Kuznetsov, A.V. 2019 The onset of convection in an anisotropic heterogeneous porous medium: a new hydrodynamic boundary condition. *Trans. Porous Media*, -.
- [25] Rees DAS, Postelnicu A. 2001 The onset of convection in an inclined anisotropic porous layer. Int. J. Heat Mass Transfer 44, 4127–4138.
- [26] Rees DAS, Barletta A. 2014 Onset of convection in a porous layer with continuous periodic horizontal stratification. Part II. Three-dimensional convection. Eur. J. Mechs B/Fluids 47, 57–67.

- [27] Rees DAS, Storesletten L, Bassom AP. 2002 Convective plume paths in anisotropic porous media. *Trans. Porous Media* 49, 9–25.
- [28] Rees DAS, Storesletten L, Postelnicu A. 2006 The onset of convection in an inclined anisotropic porous layer with oblique principal axes. *Trans. Porous Media* 62, 139–156.
- [29] Rees DAS, Tyvand PA. 2009 Onset of convection in a porous layer with continuous periodic horizontal stratification. Part I. Two-dimensional convection. *Trans. Porous Media* 77, 187–205.
- 2015[30] Fazelalani М. The relation between vertical and horpermeability. Arbuckle formation Wellington field. izontal _ June 2013, Kansas Geol. Survey Open File Report 2015–25. http://www.kgs.ku.edu/Publications/OFR/2015/OFR2015-25-pdf
- [31] Widarsono B, Muladi A, Jaya I. 2007 Vertical horizontal permeability ratio in Indonesian sandstone and carbonate reservoirs. Proc. National Symp. IATMI, July 2007, Yogyakarta. http://www.iatmi.or.id/assets/bulletin/pdf/2007/2007-09-pdf
- [32] Borja, R.L., Liu, X. and White, J.A. 2012 Multiphysics hillslope processes triggering landslides. Acta Geotechnica, 7, 261–269.
- [33] Montrasio, L. Valentino, R. and Losi, G.L. 2011 Rainfall infiltration in a shallow soil: a numerical simulation of the double - porosity effect. *Elec*tronic J. Geotechnical Engineering, 16, 1387–1403.
- [34] Scotto di Santolo, A. and Evangelista, A. Calibration of a rheological model for debris flow hazard mitigation in the Campania region. In "Landslides and engineered slopes. From the past to the future", eds. Chen Z, Zhang JM, Ho K, Wu FQ, Li ZK. Taylor and Francis, London, (2008), pp. 913– 919.
- [35] Alnoaimi KR and Kovscek AR. 2019 Influence of microcracks on flow and storage capacities of gas shales at core scale. *Trans. Porous Media* 127, 53–84.
- [36] Hooman, K. and Maas, U. 2014 Theoretical analysis of coal stockpile selfheating. *Fire Safety J.*, 67, 107–112.
- [37] Kim, J. and Moridis, G.J. 2015 Numerical analysis of fracture propagation during hydraulic fracturing operations in shale gas systems. *Int. J. Rock Mechanics and Mining Sciences*, 76, 127–137.
- [38] Svanadze, M. and Scalia, A. 2013 Mathematical problems in the coupled linear theory of bone poroelasticity. *Computers and Mathematics with Applications*, 66, 1554–1566.

- [39] Zhou, D., Gao, Y., Lai, M., Li, H., Yuan, B. and Zhu, M. Fabrication of NiTi shape memory alloys with graded porosity to imitate human long bone structure. J. Bionic Engineering, 12, 575–582.
- [40] Dejaco, A., Komlev, V.S., Jaroszewicz, J., Swieszkowski, W. and Hellmich, C. 2012 Micro CT-based multiscale elasticity of double - porous (precracked) hydroxyapatite granules for regenerative medicine. J. Biomechanics, 45, 1068–1075.
- [41] Dejaco, A., Komlev, V.S., Jaroszewicz, J., Swieszkowski, W. and Hellmich, C. 2016 Fracture safety of double - porous hydroxyapatite biomaterials. *Bioinspired Biomimetric and Nanobiomaterials*, 5, 24–36.
- [42] Dufresne, M., Bacchin, P., Cerino, G., Remigy, J.C., Adrianus, G.N., Aimar, P. and Legallais, C. 2013 Human hepatic cell behaviour on polysulfone membrane with double porosity level. *J. Membrane Science*, 428, 454–461.
- [43] Lin, F.C., Liu, B.H., Huang, C.T. and Chen, Y.M. 2011 Evaporative heat transfer model of a loop heat pipe with bidisperse wick structure. Int. J. Heat Mass Transfer, 54, 4621–4629.
- [44] Mottet, L. and Prat, M. 2016 Numerical simulation of heat and mass transfer in bidispersed capillary structures: Application to the evaporator of a loop heat pipe. *Appl. Thermal Engng.*, **102**, 770–784.
- [45] Kvernvold, O. and Tyvand, P.A. 1979 Nonlinear thermal convection in anisotropic porous media. J. Fluid Mech., 90, 609–624.
- [46] Rees, D.A.S. 2009 Microscopic modelling of the two temperature model for conduction in heterogeneous media: three-dimensional media. In, Proc. 4th International Conference on Applications of Porous Media, Istanbul, 13, 125–143.
- [47] Rees, D.A.S. 2010 Microscopic modelling of the two temperature model for conduction in heterogeneous media. J. Porous Media, 13, 125–143.

Ra	ω	Ra/ω	l	m	\hat{x}	\hat{y}	\hat{y}/\hat{x}
3.108	0.01	310.8	0	3.142	∞	2.000	0
3.948	0.04	98.7	0	3.142	∞	2.000	0
3.975	0.041	96.951	0.431	3.112	14.569	2.019	0.139
4.082	0.045	90.711	0.921	3.001	6.819	2.093	0.307
4.210	0.05	84.2	1.238	2.879	5.075	2.182	0.430
5.319	0.1	53.19	2.093	2.179	3.002	2.884	0.961
8.802	0.3	29.34	2.162	1.690	2.907	3.718	1.279
11.759	0.5	23.518	2.010	1.812	3.127	3.470	1.111
17.666	1	17.666	1.736	2.186	3.619	2.874	0.794
34.203	5	6.841	0.868	2.987	7.236	2.104	0.291
37.953	9	4.217	0.321	3.125	19.578	2.011	0.103
38.209	9.5	4.022	0.224	3.134	28.099	2.005	0.0714
38.395	9.9	3.878	0.100	3.140	62.832	2.001	0.0318
38.435	9.99	3.847	0.316	3.141	198.692	2.000	0.0101
38.440	10	3.844	0	3.142	∞	2.000	0
39.960	15	2.664	0	3.142	∞	2.000	0

Table 1: Critical values of Ra, l and m for quoted values of ω . The numbers \hat{x} and \hat{y} represent the critical wavelengths. Here $\lambda = 0.1, m_1 = 10, m_2 = 1, s_1 = 0.1, s_2 = 1$.

Ra	ω	Ra/ω	l	m	\hat{x}	\hat{y}	\hat{y}/\hat{x}
8.278	0.1	82.777	0	3.142	∞	2.000	0
14.099	0.5	28.198	0	3.142	∞	2.000	0
19.739	1.0	19.739	0	3.142	∞	2.000	0
19.838	1.01	19.641	0.155	3.138	40.558	2.002	0.0494
20.226	1.05	19.262	0.339	3.123	18.528	2.012	0.109
21.607	1.20	18.006	0.616	3.079	10.206	2.041	0.200
24.073	1.50	16.049	0.822	3.025	7.642	2.077	0.272
27.519	2.0	13.759	0.919	2.990	6.835	2.100	0.307
30.353	2.5	12.141	0.925	2.986	6.791	2.104	0.310
32.733	3.0	10.911	0.900	2.993	6.981	2.099	0.301
39.369	5.0	7.874	0.723	3.048	8.688	2.061	0.237
46.054	9.0	5.117	0.285	3.128	22.077	2.008	0.091
47.061	9.99	4.711	0.0316	3.142	198.692	2.000	0.0101
47.070	10.0	4.707	0	3.142	∞	2.000	0
50.445	15.0	3.363	0	3.142	∞	2.000	0

Table 2: Critical values of Ra, l and m for quoted values of ω . The numbers \hat{x} and \hat{y} represent the critical wavelengths. Here $\lambda = 0.5, m_1 = 10, m_2 = 1, s_1 = 0.1, s_2 = 1$.

ω	$Ra/\omega \ (\lambda = 0.1)$	$Ra/\omega \ (\lambda = 0.5)$
0.1	53.19	82.777
0.5	23.518	28.198
1	17.666	19.739
5	6.841	7.874
10	3.844	4.707

Table 3: Critical values of Ra/ω vs. ω for quoted values of λ . Here $m_1 = 10, m_2 = 1, s_1 = 0.1, s_2 = 1$.

Ra	ω	Ra/ω	l	m	\hat{x}	\hat{y}	\hat{y}/\hat{x}
2.191	0.05	43.82	0	3.142	∞	2.000	0
3.844	0.1	38.44	0	3.142	∞	2.000	0
4.157	0.11	37.791	0.305	3.126	20.603	2.010	0.0975
5.340	0.15	35.6	0.653	3.062	9.627	2.052	0.213
8.914	0.3	29.713	1.145	2.811	5.490	2.235	0.407
12.090	0.5	24.18	1.421	2.488	4.421	2.525	0.572
15.829	1.0	15.829	1.703	1.749	3.690	3.592	0.974
16.993	1.5	11.329	1.811	1.000	3.469	6.283	1.820
17.191	1.8	9.551	1.845	0.285	3.406	22.077	6.483
17.196	1.82	9.448	1.847	0.158	3.403	39.738	11.679
17.199	1.83	9.398	1.847	0	3.401	∞	∞
17.215	1.9	9.061	1.846	0	3.404	∞	∞

Table 4: Critical values of Ra, l and m for quoted values of ω . The numbers \hat{x} and \hat{y} represent the critical wavelengths. Here $\lambda = 0.01, m_1 = 0.1, m_2 = 1, s_1 = 10, s_2 = 1$.

Ra	ω	Ra/ω	l	m	\hat{x}	\hat{y}	\hat{y}/\hat{x}
4.220	0.05	84.4	0	3.142	∞	2.000	0
5.527	0.1	55.27	0	3.142	∞	2.000	0
5.778	0.11	52.527	0.214	3.134	29.296	2.005	0.0684
6.745	0.15	44.967	0.503	3.099	12.492	2.028	0.162
7.874	0.2	39.37	0.723	3.048	8.688	2.061	0.237
9.878	0.3	32.927	1.010	2.939	6.221	2.138	0.344
13.034	0.5	26.068	1.345	2.715	4.670	2.314	0.496
17.666	1.0	17.666	1.736	2.187	3.619	2.874	0.794
20.839	2.0	10.420	2.016	1.211	3.116	5.188	1.665
21.264	2.5	8.506	2.079	0.598	3.022	10.516	3.479
21.332	2.68	7.960	2.096	0.122	2.998	51.302	17.111
21.335	2.69	7.931	2.096	0	2.997	∞	∞
21.411	3.0	7.137	2.092	0	3.004	∞	∞

Table 5: Critical values of Ra, l and m for quoted values of ω . The numbers \hat{x} and \hat{y} represent the critical wavelengths. Here $\lambda = 0.1, m_1 = 0.1, m_2 = 1, s_1 = 10, s_2 = 1$.

Ra	ω	Ra/ω	l	m	\hat{x}	\hat{y}	\hat{y}/\hat{x}
14.099	0.5	28.198	0	3.142	∞	2.000	0
19.739	1.0	19.739	0	3.142	∞	2.000	0
19.838	1.01	19.642	0.158	3.138	39.738	2.002	0.0504
20.226	1.05	19.263	0.349	3.122	17.989	2.013	0.119
24.022	1.5	16.015	1.057	2.944	5.945	2.134	0.359
27.241	2.0	13.561	1.420	2.752	4.424	2.284	0.516
34.173	4.0	8.543	2.068	2.063	3.039	3.046	1.002
36.792	6.0	6.132	2.338	1.446	2.687	4.344	1.616
37.801	8.0	4.725	2.488	0.757	2.525	8.300	3.287
37.999	8.9	4.270	2.536	0.161	2.478	38.967	15.725
38.005	8.94	4.251	2.538	0.0548	2.476	114.715	46.329
38.007	8.95	4.247	2.538	0	2.476	∞	∞
38.015	9.0	4.224	2.537	0	2.476	∞	∞

Table 6: Critical values of Ra, l and m for quoted values of ω . The numbers \hat{x} and \hat{y} represent the critical wavelengths. Here $\lambda = 0.5$, $m_1 = 0.1, m_2 = 1$, $s_1 = 10, s_2 = 1$.

ω	Ra/ω ($\lambda = 0.01$)	$Ra/\omega \ (\lambda = 0.1)$	$Ra/\omega \ (\lambda = 0.5)$
0.05	43.82	84.4	
0.1	38.44	55.27	
0.5	24.18	26.068	28.198
1	15.829	17.666	19.739
2	8.618	10.420	13.561

Table 7: Critical values of Ra/ω vs. ω for quoted values of λ . Here $m_1 = 0.1, m_2 = 1, s_1 = 10, s_2 = 1$.

Ra	ω	Ra/ω	l	m	\hat{x}	\hat{y}	\hat{y}/\hat{x}
3.077	0.01	307.7	0	3.125	∞	2.011	0
4.002	0.042	95.286	0	3.140	∞	2.001	0
4.030	0.043	93.721	0.375	3.118	16.733	2.015	0.120
5.427	0.1	54.27	2.088	2.275	3.009	2.762	0.918
12.711	0.5	25.422	2.081	2.123	3.019	2.959	0.980
18.981	1	18.981	1.711	2.520	3.671	2.493	0.679
29.844	3	9.948	0.345	3.086	18.214	2.036	0.112
30.213	3.14	9.622	0.0447	3.103	140.496	2.025	0.0144
30.238	3.15	9.599	0	3.103	∞	2.025	0
31.057	3.5	8.873	0	3.101	∞	2.026	0
37.033	10	3.703	0	3.082	∞	2.039	0

Table 8: Critical values of Ra, l and m for quoted values of ω . The numbers \hat{x} and \hat{y} represent the critical wavelengths. Here $\lambda = 0.1$, $m_1 = 5.0$, $m_2 = 0.9$, $s_1 = 0.3$, $s_2 = 1.1$.

Ra	m_1	l	m	\hat{x}	\hat{y}	\hat{y}/\hat{x}
17.489	0.1	2.040	0	3.080	∞	∞
24.570	0.5	2.587	0	2.428	∞	∞
31.020	1.0	2.903	0	2.164	∞	∞
31.490	1.041	2.922	0	2.150	∞	∞
31.501	1.042	2.916	0.195	2.154	32.232	14.960
31.534	1.045	2.892	0.446	2.173	14.085	6.482
32.039	1.1	2.519	1.578	2.495	3.981	1.596
33.299	1.5	1.305	2.790	4.816	2.252	0.468
33.524	2	0.533	3.048	11.790	2.062	0.175
33.533	2.15	0.251	3.083	25.033	2.038	0.0814
33.534	2.19	0.110	3.091	57.357	2.033	0.0354
33.534	2.2	0	3.093	∞	2.031	0
33.534	2.5	0	3.093	∞	2.031	0
33.534	10	0	3.093	∞	2.032	0

Table 9: Critical values of Ra, l and m for varying values of m_1 . The numbers \hat{x} and \hat{y} represent the critical wavelengths. Here $\lambda = 0.1$, $\omega = 5.0$, $m_2 = 0.9$, $s_1 = 0.3, s_2 = 1.1$.

Ra	m_2	l	m	\hat{x}	\hat{y}	\hat{y}/\hat{x}
19.573	0.1	0	2.132	∞	2.947	0
34.877	1	0	3.156	∞	1.991	0
46.420	2	0	3.585	∞	1.753	0
47.389	2.095	0	3.613	∞	1.739	0
47.440	2.1	0.0632	3.614	99.346	1.739	0.0175
55.494	3	1.495	3.417	4.202	1.839	0.438
61.055	4	2.851	2.057	2.204	3.055	1.387
61.421	4.25	3.335	0.405	1.884	15.515	8.235
61.421	4.255	3.353	0	1.874	∞	∞
61.421	5	3.353	0	1.874	∞	∞
61.421	10	3.353	0	1.874	∞	∞

Table 10: Critical values of Ra, l and m for varying values of m_2 . The numbers \hat{x} and \hat{y} represent the critical wavelengths. Here $\lambda = 0.1$, $\omega = 5.0$, $m_1 = 5.0$, $s_1 = 0.3, s_2 = 1.1$.

Ra	s_1	l	m	\hat{x}	\hat{y}	\hat{y}/\hat{x}
30.169	10^{-4}	0.947	2.628	6.638	2.391	0.360
30.225	10^{-3}	0.954	2.631	6.587	2.388	0.363
30.708	0.01	1.009	2.662	6.224	2.361	0.379
32.904	0.1	1.019	2.873	6.167	2.187	0.355
33.522	0.2	0.451	3.061	13.945	2.053	0.147
33.531	0.21	0.300	3.079	20.944	2.041	0.097
33.534	0.22	0	3.093	∞	2.031	0
33.534	0.3	0	3.093	∞	2.031	0
33.534	1	0	3.093	∞	2.031	0
33.534	10	0	3.093	∞	2.031	0

Table 11: Critical values of Ra, l and m for varying values of s_1 . The numbers \hat{x} and \hat{y} represent the critical wavelengths. Here $\lambda = 0.1$, $\omega = 5.0$, $m_1 = 5.0$, $m_2 = 0.9, s_2 = 1.1$.

Ra	s_2	l	m	\hat{x}	\hat{y}	\hat{y}/\hat{x}
26.887	0.01	0	2.475	∞	2.538	0
28.058	0.1	0	2.657	∞	2.365	0
33.217	1	0	3.079	∞	2.040	0
34.582	1.5	0	3.128	∞	2.009	0
34.605	1.51	0.110	3.127	57.357	2.009	0.0350
34.692	1.55	0.293	3.120	21.425	2.014	0.0940
35.418	2	0.835	3.057	7.521	2.055	0.273
36.224	3	1.164	2.990	5.400	2.102	0.389
36.849	5	1.359	2.938	4.623	2.138	0.463
37.306	10	1.483	2.901	4.236	2.166	0.511
37.709	100	1.583	2.868	3.969	2.191	0.552

Table 12: Critical values of Ra, l and m for varying values of s_2 . The numbers \hat{x} and \hat{y} represent the critical wavelengths. Here $\lambda = 0.1$, $\omega = 5.0$, $m_1 = 5.0$, $m_2 = 0.9, s_1 = 0.3$.